	7.1 Answer Key
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	1. a) HNO3 + NaOH (H2O + NaNO3
          acid         base                       salt

b) H3PO4 + Ca(OH)​​2 ( Ca(H2PO4)​2 + H2O 
     acid           base                salt

c) KOH + H2SO4 ( H2O + KHSO4

    base     acid                   salt

2. The common properties of acids are that they have a pH of less than 7, they tend to have a sour taste, they often contain hydrogen, and they can conduct an electrical current. The common properties of bases are that they have a pH of greater than 7, they have a bitter taste, they often contain OH, and they can conduct an electrical current.

3. a) base

b) acid

c) acid

d) base

e) acid

4. a) acid

b) base

c) acid

d) base

5. pH = -log(0.0001) = 4

6. pOH = -log (0.000001) = 6

7. pOH = -log (0.01) = 2

pH = 14 – 2 = 10
	1. A strong acid is a substance that completely dissociates when in solution. This means that it will always donate its hydrogen ion to solution. For example, if you have HCl (which is a strong acid), you will never found hydrogen bound to chlorine as the molecule HCl, rather the compound completely dissociates into H+ and Cl-. A weak acid only partially dissociates when it is in solution. This means that you will find some of the original compound and some of the ions. For example, if you have CH3COOH, then you will find some CH3COOH and some of CH3COO- and H+. Strong acids and weak acids are different in how much they dissociate, but they are the same in that they both still contribute some amount of hydrogen to solution.

2. A

3. a) H2SO4 + 2NaOH ( 2H2O + Na2SO4 

b) 
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c) 
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